Subject: Minimum Acceptable diet
Posted by jkad1lnl7@soton.ac.uk on Thu, 23 Aug 2018 16:29:39 GMT

View Forum Message <> Reply to Message

Hello,

I'm currently working on my dissertation and using the 2016 Ethiopian DHS child's data set.

| want to calculate the minimum acceptable diet for those aged 6-24 months

| was able to calculate the Minimum Diet Diversity.

However, I'm finding it hard to calculate the Minimum Food Frequency

For the Minimum food frequency, the variables that I'm using are: M39A, V469E, V469F and
V469X. The problem with this variable is that for V469E there is 3667 missing, v469F there is
4180 missing and for the V469X there is 3808 missing. Therefore i dont know what to do or how
to calculate it.

If you may please send the variables name that you have used to calculate the minimum food
frequency and the minimum acceptable diet.

Thank you.

Subject: Re: Minimum Acceptable diet
Posted by Bridgette-DHS on Mon, 08 Oct 2018 22:18:14 GMT

View Forum Message <> Reply to Message

Following is a response from Senior Data Specialist, Ladys Ortiz:

Following is the list of variable used for the calculation of the Minimum Acceptable Diet table.

Table 11.6 Minimum acceptable diet

groupa =given( V411 ) + given( V411A) + given( V414V ) + given(V414P ); { milk group }

groupb = given( V412A) + given( V414E ) + given( V414F ); { grains,
roots, tubers }

groupc = given( V414l) + given(V414J ) + given( V414K); { vitamin
A rich fruits and vegetables }

groupd = given( V414L ); {
other fruits and vegetables }

groupe = given( V414G ); {
eggs }

groupf = given(V414M) + given( V414H ) + given( V414N ); { meat,
poultry fish }

groupg = given( V4140 ); {

legumes and nuts }

allgrp = (groupa>0)+ (groupb>0)+ (groupc>0)+ (groupd>0) +
(groupe >0) + (groupf>0) + ( groupg >0);
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allgrpl = (groupb >0) + (groupc >0) + (groupd >0) + { excludes milk products
(group a) }
(groupe >0) + (groupf>0) + ( groupg > 0);

totmilkf = O;

if VA69E in 1:7 then totmilkf = totmilkf + V469E endif;
if VA69F in 1:7 then totmilkf = totmilkf + V469F endif;
if V469X in 1:7 then totmilkf = totmilkf + V469X endif;

{ define minimum feeding times for breastfeed children }
box M4 : months : M39 => minfeedb;

95: 6-8 1 2-7 =>1; { for currently breasfed children }
95: 9-23 1 3-7=>1;
; . =>0;
endbox;

for currently breastfeeding:
allgrp >=4 { Minimum dietary diversity }
minfeedb { Minimum Meal frequency }
allgrp >= 4 & minfeedb { Minimum acceptable diet }

For not currently breastfeeding:
totmilkf >=2  { milk or milk products given 2+ times }
allgrp >=4 { Minimum dietary diversity }
minfeedb { Minimum Meal frequency }
allgrpl >= 4 & totmilkf >= 2 & minfeedn { Minimum acceptable diet }

For all children breastfeeding and none-breastfeeding

M4 = 95 | totmilkf >= 2 { breastmilk, or milk products given 2+ }

allgrp >=4 { Minimum dietary diversity }

minfeedb | minfeedn { Minimum Meal frequency }

M4 =95 & minfeedb & allgrp >=4 | { IYCF for non-breasfed

children } { Minimum acceptable diet }
M4 <> 95 & allgrpl >= 4 & totmilkf >= 2 & minfeedn then {1YCF for breasfed children }
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